koztato tabla

’

dajé

2.t

M (L 1+6+L+b+ 1) 02592850
............................ 7l
(qys ‘sgreqeadassazay s9 eduesed 1) qassyg I
............................ 01
Jupquosenlngy yosgpery isenlnp g 6
]
JURUOSBZEYNIIG HOSEPLTY ISPZRYNIDY L
............................ ‘0
............................ G
(‘qIs *sgpagsea aidedyanad ‘syzsapioiny) 5
HOSRPEDY ISRZOIJZSURUL} DD ISEZOW[RY] | 4
............................ €
............................ -z
(s ‘sgpresea aidedy9nin ‘sp1zsapI)PNY) .
HOSEPRD [SEZOJIZSULUL BIID ISPPODA] }
(H+D+4+3+@)=1 H o 4 q a 0 4 v
ugin
. B10T L10T 9102
810T $2JIZLIY ETY] wezs
UISIZSS() - § awgol 33spazapa30y y
N HoP 910t liga 394 -log

JUDHUIAD BJLZUOA SEPBIY

[ unquuriof 4225

JULIDZS HO[ID IAJISIZSSQ I

UEQSEIUO] U UIAY IS)ISTIDZSUIBZS HISIIUQP QL[ [BSSEIRYDY SPAIQO L




